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5-18 Evaluate the surface integral.

7' J.J.\yzd‘sl
S is the part of the plane x + y + z = 1 that lies in the
first octant
(0(0/1) A <X((j/ \,.)(_(75
(1,00 (0,0 7%341/0/»‘7/l
% Tz Lo t,=12. 9]
1\/\/)\/‘
=7 i xeg\l = \6
7
= T<
X
(7%:3(\’?()
(" dod
T (1-x—9) & dydx
s g e R
=¥ a1y d 3 dx
| 7’10{ dy =3 g['ﬁ 5 X =37
@g R IR -
D)
o

\
V= 3
= % (1 L (=) dx -3 § (-0 dy
> 0

‘@ %Q( oy at — % 3 adtoy ) dyy B [ C!-%)]
S(( 13y lx-\—\\dx+@{ 1

—

Z
(0% 9 \
Lj \r.3
3 U _ N>
— \(j\ _f. +\;?—- :b\( AR >y
- 5 v )
e (o1 ox ———('(/K
= = G -
5 AR [et| -G
= ”I/YQ/T‘ v 2 Y P
,(_\(’5 'S ¥y3Vz 23 - Vz
- /%’—_—\;;, - —\ PAY] Y

Apr 29-9:27 AM



16-7-notes-newer.notebook May 01, 2019

9. j'j;.yzdS,
S is the surface with parametric equations x = u*, y = usin v,
z=ucost,0<u<1,0<v<q7/2
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14. (], y*dS, *
S is the part of the sphere x* + y* + z? = 4 that lies
inside the cylinder x* + y* = 1 and above the xy-plane
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17. .f.f_' (z + x*y) dS,

S is the part of the cylinder y* + z* = 1 that lies between the
planes x = 0 and x = 3 in the first octant
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41. A fluid has density 870 kg/m" and flows with velocity B
v=z[i+ y*j + x*k, where x, y, and z are measured in S‘ﬁ"ﬂ’—f"g‘?'ids
meters and the components of ¥ in meters per second. Find 5‘ §
the rate of flow outward through the cylinder x* + y* = 4, - S-j E. (7 v7)dA
0=sz=1.
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